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DEPARTMENTAL EXAMINATIONS 
SURVEY DEPARTMENTAL TEST –– DEPUTY INSPECTOR OF SURVEY 

AND LAND RECORDS TEST –– PAPER – II 

(Without Books) 

Maximum Time : 2.30 hours Maximum Marks : 100 

IMPORTANT INSTRUCTIONS 

DESCRIPTIVE TYPE 
Â›ÁõÚ Âøh¯ÎUS® ÁøP ÂÚõzuõÒ 

 Read the following instructions carefully before beginning to answer the 
questions. 

 ÂÚõUPÐUS Âøh¯ÎUP öuõh[S® •ß¦ RÌUPsh AÔÄøμPøÍ PÁÚ©õP £iUPÄ®. 

1. Answers in excess of the prescribed number of questions appearing at the end of the answer 
book will not be valued. 

ÂøhPøÍ SÔ¨¤mkÒÍ GsoUøPUS AvP©õP GÊv°¸¨¤ß, ÂøhzuõÎß CÖv°À EÒÍ 

AvP GsoUøP°»õÚ ÂøhPÒ ©v¨¥k ö\´¯¨£hõx. 

2. In case of doubt, English version is the final. 

ÂÚõUPÎÀ \¢÷uPª¸¨¤ß B[Q» ÁiÂÀ öPõkUP¨£mkÒÍ ÂÚõUP÷Í CÖv¯õÚx.  
 

  [N.B (1) Answer ALL questions. 

     AøÚzx ÂÚõUPÐUS® Âøh¯Î. 

    (2) Candidates are allowed the option to answer the Paper either in English or 
Tamil or even to answer the Paper partly in English and partly in Tamil.  

     Âøh¯ÎUS® uõÎÀ ÂøhPÒ B[Q»® (AÀ»x) uªÌ (AÀ»x) £õv 

B[Q»zv¾® ©ØÖ® £õv uªÈ¾® Âøh AÎUP»õ®. 

    (3) Marks will be deducted for bad handwriting. 

     öuÎÁØÓ •øÓ°À øPö¯Êzx C¸¨¤ß ©v¨ö£s SøÓUP¨£k®. 

    (4) Chamber’s mathematical Tables and Traverse (Boileau) Books are only 
allowed with Scientific Calculator.]  

     ÷\®£ºì (Chamber’s) Pou Áõ´¨£õk ©ØÖ® mμõÁºì £õ´÷» (Boileau) 
¦zuPzxhß  Po¨£õß AÝ©vUP¨£k®. 
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1. Workout in a Survey Circuit traverse shown below up to Area.            (30) 

Station Angles  
Deg. Min.

Bearing 
Deg. Min.

Distance 
(Mtrs) 

A 102.35 183.42 54.0 

B 88.40  147.2 

C 162.41  25.8 

D 113.57  55.8 

E 203.46  20.6 

F 75.50  40.6 

G 148.28  117.4 

H 184.03  35.8 

öPõkUP¨£mh AÍÄPøÍU öPõsk iμõÁºì uõÎÀ £μ¨¦ Áøμ PnUQkP. 

{ø»¯[PÒ ÷Põn[PÒ 

iQ›.{ªh®

x¸Á÷Põn®

iQ›.{ªh® 
yμ®  

(«mh›À) 

A 102.35 183.42 54.0 

B 88.40  147.2 

C 162.41  25.8 

D 113.57  55.8 

E 203.46  20.6 

F 75.50  40.6 

G 148.28  117.4 

H 184.03  35.8 

2. Compute the watch time slow or fast form the record of observation given :         (30)  
öPõkUP¨£mh A]©z ¦ÒÎ ÂÁμ[PÎ¼¸¢x E£÷¯õQUP¨£k® PiPõμ® GÆÁÍÄ ÷|μ® •¢v 

AÀ»x ¤¢v KkQßÓx GÚ PoUPÄ®? 
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Record of observation for time and Azimuth 

Date of observation : 27.05.1985  Approximate Longitude : E 70.20’.21”.13 

Value of one division of level : 20” object observed ‘SUN’ Approximate Latitude :  N 12.53’.52”.20 

 

Vertical Vernier 
(angles) 

Horizontal Angle  
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(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12) (13) (14) 
      ’    ” ’  ”     ’    ” E O HMS     ’    ” ’  ”     ’    ”     ’    ”     ’    ”     ’    ”

RO L       102.54.40 54.40 102.54.40 
LO L 22.23.00 23.00 22.23.00 10 7 4.55.45 162.00.40 00.40 162.00.40 

59.06.00 

LO L 21.43.20 43.20 21.43.20 10 7 4.57.35 162.37.40 37.40 162.37.40 
RO L       102.54.40 54.40 102.54.40 

59.43.00 
59.24.30

RO R       282.54.40 54.40 282.54.40 
LO R 21.32.20 32.20 21.32.20 7 10 5.00.30 342.03.20 03.20 342.03.20 

59.08.40 

LO R 20.00.40 00.40 20.00.40 7 10 5.03.35 342.44.40 44.40 342.44.40 
RO R       282.54.40 54.40 282.54.40 

59.50.00 
59.29.20

59.26.55

 

Date Declination Difference Equation of time Differents Parallex  Refraction 

     ’   ” ” M                S S   

26.05.1985   S 21 04 47.4 +03         01.25 

27.05.1985 21 15 06.5 02            54.47 

28.05.1985 21 25 03.4 

 
+619.1” 

596.9 
02            47.25 

 
–6.78” 

–7.22” 

15° =8.5” 

20° = 8.3” 

25°=8.0” 

67° =   2  16.5

68° =   2  23.3

 69° =  2  30.7

3. Solution :                  (15) 

From the given the Triangle ABC. The side AC=96.0m and Angle  36A ,  48C . Find 
out the other angle and the two sides AB, BC – using Logarithm tables. 
‘ABC’ GßÓ •U÷Põnzvß £UP® AC=96.0«   ©ØÖ® ÷Põn[PÒ  36A ,  48C .  GÛÀ, 

©ØöÓõ¸ ÷Põn AÍÄ ©ØÖ® C¸ £UP[PÒ AB, BC &I ©hUøP AmhÁøn°ß ‰»® PnUQkP. 

4. Describe about the Field Inspection of field boundaries and measurements during the town 
survey.                   (15)  
hÄß \º÷Á |hUS® ö£õÊx GÀø»PÒ, AÍÄPÒ «x uoUøPPøÍ £ØÔ Â£μ©õP GÊxP.  
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5. Write short notes for the following :               (10)  

(a) Street Survey 

(b) Taluk Account No. 6 

(c) Bad Work 

(d) Khandam 

(e) Taluk Account No. 8(A). 

]Ö SÔ¨¦ ÁøμP : 

(A) öu¸ AÍøÁ 

(B) Ámh PnUS & 6 

(C) ÷©õ\©õÚ £o 

(D) Psh® 

(E) Ámh PnUS -& 8H 

 

––––––––––––––––––– 


